X SD.

4233 5.52

158.33 5.38

127.67 14.09

0.58 0.09

2.60 0.11

10

43.73 6.01

160.07 6.24

127.73 14.98

059 011

2.60 0.17

2
X SD.

4313 6.37

159.33 761

127.80 16.18

0.61 0.13

2.60 0.12



1
42.33 1 43.73 2
43.13 158.33
1" 160.07 2 159.33
127.67
1" 12173 2 127.80
0.58
1059 2 061

1 ' 2 2.60
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14

15

15

15

15

15

33.3

33.3

33.3

33.3

33.3

15 333

15

15

15

15

15

15

15

10

33.3

33.3

33.3

33.3

33.3

33.3

50.0

16.7
33.3

15

15

15

15

15

15

15

13

33.3

33.3

33.3

33.3

33.3

33.3

50.0

6.7
43.3

45

45

45

45

45

45

30

23

48

100

100

100

100

100

100

100

23.3
16.7



10

11

12

2{)

2
11

15

10

15

6.7
36.6
6.7

50.0

6.7
10.0
33.3

50.0

10

15

10

15

0
16.7
33.3

50.0

6.7
33.3
10.0

50.0

2
16
12

30

13
13

30

49

6.7
53.3
40.0

100

13.3
43.3
43.3

100
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P < .05

0.54 0.08
2.60 0.13

0.50 0.07
2.58 0.12

0.55 0.08
2.58 0.14

0.49 0.08
2.56 0.12

0.55 0.06
2.53 0.11

0.52 0.10
2.59 0.16

0.48 0.06
2.55 0.15

0.47 0.07
2.54 0.14

0.41 0.06
2.51 0.14

0.37 0.07
2.46 0.13

2, 4,6, 8

0.55
2.57

0.44
2.52

0.50
2.54

0.46
2.51

0.45
2.50

SD. F

0.12 0.40

0.09 0.26

0.08 2.06
0.09 0.89

0.09 420
0.09 0.37

0.07 4.62
0.08 0.82

0.08 23.75
0.10 1.34

51

10

0.67
0.77

0.14
0.42

0.02*
0.70

0.02*
0.45

0.00%
0.27



10

10

2

10

0.55

10
2.51

0.52

0.55

2.59

0.44
0.50

2.55

0.47

2.58

0.41
0.49

10

2.54

2.56

0.41

2.57
2.60

2.52
2.58

0.50

2,51

0.37

0.54

1 048

10
2 2.54

0.46

52



10

1

0.37
0.55

2.50

10

53

2 0.45

2.46
2.53



20

o

2.4

10

N -

10

2, 4, 6,

54

i N



df

42

44

% < 05

SS

0519

2592

3111

(Tukey a)

0259

0062

55

2
F P
42039  .0217-
05
3



56

05

5
1 2 (Tukey a)
1 2
< 5520 4693 5027
(
5520 0827* 0493
1 4693 0334
2 5027
*P < .05
5
1 05
) 1 2



% < 05

df

42

44

VB
0450 0225
2042 0049

2492

(Tukey a)

57

4.6242 0153*

05



1 2
X 4907
()
4907
1 4133
2 4553
* < .05
1
| ' 05
2

05

4133

0774*

(Tukey a)

4553

0354

0420



% < 05

df

42

44

10

2218

2014

4292

(Tukey a)

59

HS F P

1139 23.7450  .0000°

0048

05



9
10
2
4I l
X 5467
()
5467
1 3727
2 4513
*n < .05
9
1 2

(Tukey a)

3121

A4

05

05

4513

0954*

0786*

60



10

*n < .05

05

10

df

14
15

10

89

2, 4,6, 8

1.1093
1833
0545
1289

1.2926

10

(Tukey a)

0792
0024
0109
0018

0145

2, 4,6, 8

5.917

61

10

000%



11

Res.0

Res.2
Res. 4
Res. 6
Res. 8
Res.10

<05 (.

62

2, 4, 6, 8 10

(Tukey a)

Res.0 Res.2 Res4 Res6b Res.8 Res.10
X( vi) 26013 2.6000 25767 25753 25560 2.5307

2.6013 0013 0246 0260  .0453*  .0706'
2.6000 0233 0247 .0440* 0693
25767 0014 0207 .0460
2.5753 0193 .0446'
2.5560 0253
2.5307
05 5,70 = 3.98, = 0.0436)

11

2 8
2, 4 6 10

05



63

12

2, 4,68 10
1
df M F :
14 1.746 1247
75 3270 0044
5 1940 0388 20427 .000%
70 1330 0019
89 20730 0233
% < 05
12
2, 4,6, 8 10 1
) 3

(Tukey a)



Res.0

Res.2
Res. 4
Res. 6
Res. 8
Res.10

13

Res.0
X( ) 2.6027
2.6027

2.5841
2.5520
2.5433
2.5067
2.4640

* > .05 (0 .05 570 = 3.98,

13

10

64

2, 4.6, 8 10

(Tukey a)
Res.2 Res.4 Res.6  Res.8 Res.10
25847 25520 25433 25067  2.4640
0180 0507 .0594*  0960*  .1387
0327 0414 0780* .1207
0087 .0453* 0880
0366 0793
0427

= 0.0448)
1

4 6, 8 10

8 10 ‘ 6



14

df

14

15

10

89

" < 05

14

2, 4,6, 8
05

6656
2418
1152
1266

9074

10

65

2, 4,6, 8 10

0475
0032
0233 12.737 000%
0018

0102

(Tukey a)



Res.0

Res.2
Res. 4
Res. 6
Res. 8
Res.10

*n < .05 (g .05 5,70 = 3.98,

15

X( ) 2.6013

2.6013

2.5660
2.5173
2.5400
2.5107
2.4967

15

2, 4, 6, 8
(Tukey a)

Res.2  Res.4  Res.6
25660 25173 25400
0353 0840*  .0613*
0487 .0026
0227
= 0.0436)
4 6, 8 10

4, 8 10

10

Res. 8
2.5107

.0906*

0853*
0066
0293

66

Res.10
2.4967

1046

.0693
0206
0433
0140

05



" < 05

16

10

16

05

df

14
15

10

89

1609
4192
0964
3228

2800

2, 4,6, 8

0115
0056
0193
0046

0065

10

(Tukey a)

6/

2, 4, 6, 8

4.178

002*



68

17
2, 4 6,8 10
(Tukey a)
Res.0  Res.2 Res4 Resb Res.8  Res.10
X( ) 5840 5427 4953 5520 4907 5467
Res.0 5840 0413 0887 .0320 0933* 0373
Res.? 5427 0774* 0093 0520 0040
Res. 4 4953 0567 0046 0514*
Res.6 5520 0613 0053
Res.8 4907 0560
Res.10 5H467
*p < .05 (g .05 5.70 = 3.98, = 0.0697)
17
4 8 2
4 4

10 [ 05



18

10

df

14

15

10

89

*n < .05

18

2515
1134
4269
2865

9649

2, 4,6, 8

0180
0095
0854
0041

0108

10

69

2, 4,6, 8

20.857 .000*

{Tukey a)



10

19
2, 4 6, 8 10
1 (Tukey a)
Res.0 Res.2  Res.4 Res.6  Res.8  Res.10
X( ) 5867 5160 4800 4693 4133 3127
Res.0 5867 0707*  1007*  1174*  1734*  2140*
Res. 2 5160 0360 0467 1027 1433
Res. 4 4800 0107 0677 .1073*
Res. 6 4693 0560 .0966*
Res. 8 4133 0406
Res.10 3127
*n < .05 (g .05 570 = 3.98, = 0.0658)
19
1 2, 4.6, 8 10
2 4 8 10



*n < .05

20

05

10

20

df

14
5

10

89

2, 4,6, 8

4642
6374
3158
3216

1.1216

10

(Tukey a)

HS

0346
0085
0632
0046

0126

71

2, 4,6, 8
F P
13.745 .000*
3



12

21 ! | ! !
! 2, 4, 6, 8 10
2 (Tukey a)
| |
!
! !
Res.0 Res.2  Res.4 Res.6 Res.8 Res.10
X( ) 6060 5473 4433 5027 4553 4513
!
Res .0 6060 0587 1627  .1033*  .1507*  .1547*
!
Res. 2 5473 1040* 0446 .0920*  .0960*
Res. 4 4433 0594 0120  .0080
Res. 6 5027 0474 0514
Res. 8 4553 0040
Res.10 4513
* < .05 (g .05 5,70 = 3.98, = 0.0697)
2 ! ! !
2 ! ! 4, 6, 8 10 !
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